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Special credit will be given for precise and correct
answer. Marks will be deducted for spelling
mistakes, untidiness and illegible handwriting.
The figures in the margin indicate full marks.
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1. Answer any one question :

A. (a)
(b)
B (a)

B.Sc-AU-6104

( English Version )
First Part
Group-A

10x1=10

What is benzyne ? Show the
structure. How can benzyne be
prepared in the laboratory ? What

are the applications of benzyne ?
1+1+2+3

Give examples of  Pinacol-

Pinacolone rearrangement, Claisen
rearrangement and Beckmann

rearrangement. 1+1+1

How can you distinguish the

following compounds by UV-



(b)

(c)

2. Answer any one question :

A. (a)
(b)
B. (a)
(b)
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Which molecules are IR active and
why ? Discuss.

How can you synthesize

tetrapeptide by solid phase peptide
synthesis ?
( 1% x2)+3+4
Group-B
6x1=6

Write the structure of lactose.

What is mutarotation ? What is
the mechanism of mutarotation in

solution ? 2+2+2

What is meant by Pascal's

triangle ?

What is its application ? 3+3

SERRRRCE)

QP Code: 18UA101ECH13&14 4

3. Answer any three questions :

A.

4. Answer any one question :

A.

Group-C
3x3=9

What are the differences between soap

and detergent ?

Write the reactions for conversion of

diesel oil to petrol oil.

B-anomer of glucose is more abundant

in nature. Why ?

Explain the importance of vibration of

molecule in IR spectra analysis.

What is the importance of chemical

shift in NMR ?

What are the uses of nitrene ?
Second Part
Group - A

10x1=10

(a) Prove by one experiment that DNA

is the hereditary molecule.

(b) What is macrophage ?
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(c)

(d)

(b)

(c)

5. Answer any one question :
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Write the structure of

plasmalogen.

Describe Watson-Crick model of

DNA. 3+1+3+3

Draw the Lineweave-Burk plot of
competitive and non-competitive
inhibition of enzyme.

What is meant by Swedberg unit ?

2

Prove v=Sw r in density

gradient centrifugation.

Show hydrogen bonds between

G and C in DNA. 3+3+4
Group-B

6x1=6

A. Write the steps of glycolysis giving

names of enzymes and coenzymes. 6
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B.

6. Answer any three questions :

A.

What are the metabolic end products of

a fatty acid CHg-(CH,), -COOH.

Write down the steps of the reactions. 6

Group-C
3x3=9

Write the differences between o helical

and f pleated sheet structure.

Write the reactions between cysteine
and ninhydrin and cystine and

5,5 l—bisdithionitrobenzoic acid.

What are the functions of thiamine,
riboflavin and nicotinic acid as

coenzymes ?
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D. How can you get gluconic acid,
glucuronic acid and glucaric acid from

glucose ?

E. What are the structural differences

between amylose and amylopectin ?

F. Classify enzyme according to IUPAC-

EC.
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